7. Classification.

) 'Classification’ means 'to assort the items of a given group on the basis of a certain common: quality they
possess and then spot the stranger or odd one out’.
lo this, you are given a group of certain items, out of which all except one are similar to one another in some
manner. The candidate is required to choose this one item which does not fit into the given group..
CHOOSING THE ODD WORD

Solved Examples

Directions : Choose the word which is least like the other words in the group.

Ex.1 (1) January (2) Ma.y (3} duly (4) November

Sol. Here, all except November are months having 31 days, while November has 30 days. Hence, the answer is {4).
Ex.2 (1) Bake (2) Peel (3 Fry (4) Boil

Sol. Here, all except Peel are different forms of cooking. Hence, the answer is {2). ’

Ex.3 (1)Pistol : {2) Sword ~ {3)Gun ’ - {4) Rifle

Sol, e, all except Sword are fire arms, and can be used from a dlstance Hence the answer is (2)..
CHOOSING THE ODD PAIR OF WORDS
In this type ofq questlons, certain pairs of words are  given out of whxch the words in all the pairs except one, bear -
a certain common relationship. The candidate is required to deapher this relatlonshxp and choose the pair in -

which the words are differently related, as the answer.
Solved Examples

* Directions : Choose the odd pair of words. o .
Ex.4 (1) Pamter (Jallery (2) Actor : Stage (3) Mason : - Wall (4) Farmer : Field
Sol. Clearly, the answer is (3). In-al all other pairs, second is the working place of the first.
Ex.5 (1) Volume : Litre (2) Pressure : Barometer {3} Length : Metre (4) Resistance : Ohm
Sol C"serly, thé answer is (2). In all other pan's second is the unit to measure the flrst On the other hand, barometer

iséf mstrament.
CHOOSING '!'HE OoDD NUMERAL

In this type of questions, certain numbers are given, out of which all except one share some common properly
and hence are alike, while one is different and this number is to be chosen as the answer. :
Solved Examples

Directions: Choose the number whlch is-different from others in the group. .

Ex.6 (1)13 @ 17 (3)23 (4) 63
Sol. Fach of the nambers except 63, ica pnme number. Hence, the answer is (4). »
Ex.7 (1)25 - @36 - (3)78 (4) 144

-~ Sol..- Each of the numbers. except 78, is a perfect square Hence, the answer is (3).

. .- . CHOOSING THE ODD NUMERAL PAIRI GROUP

In thxs type of questnons, Certain pairs/groups of numbe{s are given outt of which all except oneare simllar ln some

manner while one is different. The numbers in these similay pairs/groups may have the same property or may be

re!ated to each other accordmg to the: same rule. The. candldate is required to choose the odd pair/group.. .
Solved Examples

: Bn‘ectiom Choose the n,xmng pair/groupwhxch is-different from others e
N 3)37,4 < -, (4)42 4

Ex8 (14,12 . - (2247
Sol. In'each of the pairs except (3), the product of thie numbers'is 168. Hence, the answer ig; (3). -
Ex.S (1)71,7,3,17 {267, 71,3,5 {3)41,5,3,47 : 4y37, 14k 19,7

Sol. Al other groups except {4) con,:st of prime numbers orly, whxle (4) cont'sts o‘ one corrpos.te n.xm‘wer ie. 14.

Hence, the answer is (4).



Ex.10(1) 1 (5) 2 (2)7(113)8 -2, {3)2(20)4 43174
Sol. In each of the alternatives except (4), the number inside the bracket is the sum of the squares of the numbers
outside it. Hence, the answer is (4). '
CHOOSING THE ODD LETTER GROUP

In this type of questions, usually four groups of letters are given. Three of them are similar to each other in some
manner while one is different and this is to be chosen by the candidate as the answer.

Solved Examples

Directions: Choose the group of letters which is different from others.
Ex.11(1) BCD (2) KMN (3)QRS (4)GHI
Sol. Clearly, the answer is (2). All other groups consi;t of three consecutive letters while this one doesn'.
Ex.12(1) CZHK " {2)MLAG (3} XUBU {4) SENO o
Sol.  Clearly, the answer is (3). This is the only group in which one letter has been repeated. '
Ex.13(1) AUgPZ . | (2) MXiDV {3) KFeCO . (4) YGLhT v

" Sol. Clearly, the answer is {4). In aii otier groups, the sthaller letter is the middle one.” .




Y

«  EXERCISE

. Direction (Q.1 to Q.30) :Three of the terms will be in the same classification, the remaining one will not be, ‘
Your answer will be the one terms that does NOT belong in the same classification as the others. _

Which terms does NOT belong with the others?

1 {1)inch Wﬂce {3) centimeter {4} vard
2 (1) tire (2) steering wheel Sgndine M
3 (1) tulip (2) rose (3) bud (4) daisy
4 (1).gu¥far (2j;ﬂute (3} violin (@géllo
5. (1) dodge. (2) flee (3) duck *(4) avoid
6 (1) heading {2) body {3} letter {4) closing
7 (1) tape (2) twine (3)cord {4) yarn
8 (1) noun {2) preposition {3) punctuation {4) adverb
9 {1) book {2) index (3) glossary {4} chapter
10. (1) peninsula {2)island (3) bay (4) cape B
11. (1) acute ‘(2) right (3) obtuse (4) parallel
12. (1)biology {2) chemistry (3) theology™ - {4) zoology
13. (1) Violet (2) Brown (3) Yellow {4) Orange
14. (1) Yudhishthir (2) Shaluni (3) Viibhishan (4) Sahadev
15. (1)YWU (2) NLJ (B)KIF {4 VIR
16. (1)DFHB {2) KMOJ (3)PRTN' (4) XZBV
17. (1)CAE {2) KGM (3) NLP . {4) YWA .
18. EHG {2) IML (3) PSR 4) UYX
19. (D226 CGuaeM T (@1B36P ) AN -
20. (1)125 {(2) 216 (327 - {4121
21, (1)43 {2) 53 (363 (@73
22, (1)21:24 - {2)28:32 (3)14: 16 _ {4) b4 : 62
' 23. (1)24:20 . {2y32:15 (3)14:17 ‘ - {1)91:82
24. (1)1:2 (2)3:28 {(3)4:65 427
25. (1)6:23 (2)3:11 (3)8:31 (4)5:18
26. (1) 426 (2) 369 (3) 279 (4 159
27. (1)145 (2) 197 (3) 257 4)399
28. (1)1532 (2) 8749 3) 4268 (4) 5846 |
29, (1)(18, 45) (2) (23, 14)- (3)(29,82) (4)(36,27)
30. (12,3,6 (26,1,6 313,39 46,2,5
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